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Questionl:-Consider the following events of second world war;
i. Yalta Conference
ii. Teheran meeting
iii. Casablanca Conference
iv. Dumbarton Oaks Conference
Select the correct chronological order of events from the codes given below :
@rewrL_mbd 2 sl Cumfler Wereumd Hlapeysamens soueflu|miger;
I wreLm wrkrh
ii. Qgamymer gl L b
iii. smemermiism LIHT(H
V. LmbUFL 6T 6&60 mBm(h

Blaspe|saflen sflwmer srosuflens euflansamwsd CsinolsHése D

Ac-iii, i, v,
B:-ii, iv, iii, i
C:-iv, iii, i, i
D:-i, v, iii, i

Correct Answer:- Option-A

Question2:-With reference to the reign of Marthanda Varma, consider the following
statements ;

i. Marthanda Varma is considered as the founder of Modern Travancore

ii. The famous Thrissur Pooram was instituted during his reign

iii. One of the important acts of Marthanda Varma was Thripadidanam

Which of the above statements is/are correct?

TiSSTET_auforeler <pl £& sresmsts UL GHINLLe, Wb oflémasamand
GouaflymisdT;

i, wrigsrar_eaufom peier Hmelsrhigmfer Hneueammrss &mgsluBEH DT

i, yspCupm SmEET Wb Qeurg %l 8 srgdle Hlneuliul L g



iii. rrsgTewTLsuFwmalern (p&&lwrer ewdsaflenr eearm SHilurdlsreid

Cuopammu sapmiseicy ergl/erenen FFlwimerg)?

A:-i & ii only
i &ii (b

B:-ii & iii only
i & iii L_(Hid

C:-i &iii only
i & iii (b

D:-i, ii & iii
i, il & iii

Correct Answer:- Option-C

Question3:-Consider the following statements about the Lahore Session of the
Indian National Congress;

i. Jawaharlal Nehru was elected as the President of the Indian National Congress
ii. This congress decided to celebrate 26 January as "Independence Day" all over
the country

iii. Gandhiji decided to launch the Non-Co-operation Movement

Choose the incorrect option :

@i Caslw sradlredien eorgmy wie| uHHlu Meareumd Msmasamers sHoueilu|biser.
i, maanierd Crm @bSu Csflu smhdradian smaarns Coibes@HasIuL LT
ii. sameufl 26 b Cadlenw Br(H WPPeUFID &SBSlT Slarors Cerarm_ Qbs
smhidlren wrBTH (plye| CFigs)
iii. srhledl sgiempWITmL QUGSSME CSTLBIS (plg6a| CFUISTH.
souprer eflGLLS®SS GBS B RS !

A:-i & ii only
i & ii (Kb
B:-iii only
i LL_(HD
C:-i & iii only
i & iii LG
D:-i, ii & iii
i, i & iii

Correct Answer:- Option-B

Question4:-Which of the following statements is/are correct about the revolt of
18577

(i) According to V.D. Savarkar, revolt of 1857 was the "First War of India's
Independence".



(ii) Bahadur Shah Il was the Mughal emperor during the revolt of 1857
(iii) Doctrine of Lapse was one among the causes of the revolt
(iv) Lord Cornwallis was the Governor General during the revolt

1857 &larjadl upil emoupd sanmisetich erg)/erenen Filwimeng)?
(i) V.D. smeussy @eim Lilg 1857 b <yar(h dlerissl '@bdlwumalen (psHe &SbHErL
Gumg"
(ii) 1857 <y,ib yamrigen Slerydflufen Cungl wpasmuls Cuppsy @)\rer_reug
LaDSTTesT QLS
(iii) dlerjsflssner srrammisaile emien CHTUMHID e
(iv) dlerggslullen Cung) seufeny Qeyarreors @mBSeuUT Sriareumedlen 1L
A:-Only (i) and (iv)
(i) wHmibd (iv) LD
B:-(i), (ii) and (iii)
(i), (ii) wHmb (iii)
C:-Only (iv)
(iv) wl_(Hibd
D:-Only (ii) and (iv)
(ii) womibd (iv) L (HLD
Correct Answer:- Option-B
Question5:-Expand NATO
CrL_CLmeneu 6flfleums @ miger
A:-North Atlantic Territories Organization
BTig Sl eomenriqd CLFlCLmilen < isamarGavagen
B:-North Asian Treaty Organization
B17& erdlwen g < TaamearCenager
C:-Non-Alliance Treaty Organization
BIT6IT-< e WIenen L FLiq 2 FaenaGenage
D:-North Atlantic Treaty Organization
BITS L menTiqd Ll g 2 THemarGenauer
Correct Answer:- Option-D

Question6:-Which of the following statement is/are correct about European
contributions in Kerala?

(i) Portuguese established printing press in Kerala

(i) British were the first Europeans to land in Kerala

(iii) First authentic book in Malayalam Grammar was prepared by Hermann Gundert
(iv) Malabar Manual was published by VanRheede



Carermelled epCrmifw umiseilliyseerts updl GemeumDd sapmiseticy erg)/erencu Fiflwimeng?
(i) Csryermeller CUTFSGHEH WD SFssb Hlpelwg
(ii) Gaparmedle somAnidu wsd oCrmIGuise okdGuwisd
(iii) wenewimer Q&SH@THH 6T (LPHE 2 ETEMOWTET LiSS5HD Clam FLoe
T LT SWTilésiul L s).

(iv) weoury enaCGuil_e eurerf_ Qeuefludl_Lmy

A:-Only (i) and (iv)
(i) wpmd (iv) LI (Hb
B:-Only (ii) and (iv)
(ii) womibd (iv) (Kb
C:-Only (i) and (iii)
(i) wopmd (iii) L (HLD
D:-Only (ii) and (iii)
(ii) womibd (iii) (b
Correct Answer:- Option-C

Question7:-Consider the following statements :

1. Tropical cyclones always move from East to West

2. If they cross 20° Latitude they recurve and are more destructive
3. Tropical cyclones originate over warm tropical oceans

Which of the statements given above is/are correct?

GetTeU(HLD AMSMSHEMETS &6 W BIGET
1. Geuliuwar e @oreueflser erliCurgID Fipsdlalmng Cona@ Crméad BsmD
2. o6 20° o sCransamnis SLHSTED enel BT (HLD cuanehgl GogLd
<l fle|ErinTeareney
3. Geuliuwere @oreueilser @Lmer CeuliuwenT e ClumhisL et
2 (Heurdlermen
CuCe QarhisslLLl L 6Ths ADEGmas6T Filwnarenel?
A:-1 only
1 ol @b
B:-3 only
3 L (Hd
C:-1 and 3 only
1 bpmib 3 - (Hb



D:-1,2 and 3
1,2 womib 3
Correct Answer:- Option-D

Question8:-Which one of the following is the antecedent tributary of River
Brahmaputra?

Yemeumeuameumiled erg LSS T Bdluden (parCenmig &ener BSH7?
A:-Dhansari

geoamif)
B:-Subansiri

GLG& N

C:-Manas

LDGITITG
D:-Tista
Iq GUL_IT
Correct Answer:- Option-B

Question9:-Which Indian city has become the first city in the country to get a
processed steel slag (Industrial Waste) road?

USULMHSSILL L 6Teo@ 550 (Hgmeogienm sfla]) smanevenuits GUHm BT ig6m (PSH6
BSOS 6THS @QBSWI BSFD WTHlL|eTers)?
A:-Delhi
@Leved
B:-Ahamadabad
DIGLOSTLTS
C:-Surat
&5
D:-Chennai

G FesTen 6

Correct Answer:- Option-C

Question10:-Which of the following characteristics is correct about Troposphere?
(i) Itis the densest atmospheric layer
(ii) The zone separating the troposphere from stratosphere is known as stratopause
(iii) This is the most important layer for all biological activity
(iv) This layer absorbs ultra-violet radiations and shields life on the earth from
intense,

harmful form of energy?

L CrrGumevQwiflé emaumid @eaormdlawnisefled erg sifluimeng?

(i) @8 LisSluner euafloeam e AH&E,



(i) ev_grGLmeviGwifled @mbgl GeuliLibaTLSemg [Afl&@ELWD el D
evL_grGLmumey erem Sanp&sliL(hiSng).
(i) @5 @marsgl 2 ulflwe CFuOUTHSERSGLWD WIS (WPEEwLTer i (H&HE
(iv) QB8 <H&@E U 2asT sdlieidasamen o Hlerd Lluded 2 dter o ulFsamer Seflr,
& cllanereills@d <Hmadled @)(Hhg LITGISTEEDS.
A:-Only (i) & (iii)
(i) & (iii) L (Hw
B:-Only (ii) & (iv)
(i) & (iv) bl (1w
C:-Only (iii) & (iv)
(iii) & (iv) wl(Hw
D:-All of the above ((i), (ii), (iii) & (iv))
CuwGev 2 dmer Syemenggid ((i), (i), (iii) & (iv))
Correct Answer:- Option-A
Questionl1:-Consider the following statements :
Statement A : Western coastal plains are an example of submerged coastal plain
Statement B : Western coastal plains provide natural conditions for development of
ports and
harbours
Select the correct answer :
LYedTeu(HLD SMSMSSM6TS SeUGTIIBIGET !
9bsemns A 1 Cone sLCary swbeuaflger Bfle eppdlu sLCeary swbeuallsEe e
2 _GITIEHTLD
SiMsans B : Cone sLhser gwbleuaiger glenmpsmisafler cueTyss&s
@QuhensiTen HlenaenD&EMmeT cULPBIGE DG
sflurer udevas CorbOEHEH|D !
A:-Statement A is correct, B is incorrect
SiN&sems A sflwreng, B seupmeng
B:-Statement B is correct, A is incorrect
SiN&Gems B sflwmeng, A seupmeng
C:-Both statements are incorrect
@ireT(h DSMEHHEHD SeuDTaTena
D:-Both statements are correct and Statement B explains Statement A
@rerr(h 2idsamaEsHEsD Fflurarae HMLD HHlsams B ohlsms A-g alars@Sng



Correct Answer:- Option-D

Question12:-Which of the following was declared as Wildlife sanctuary on July 3,
20207

Getreu(Heuareupiled ergl e39ema 3, 2020 et cuUETENOkIE FFERTTEWILDNG
SiMeilGsLLL L g)7?
A:-Kurinjimala Sanctuary

&M Ep&FLDEN6L FTERTTEWILD

B:-Malabar Wildlife Sanctuary

LOGQUIMTT GUGTES QIS FFauTTeWILD
C:-Karimpuzha Wildlife Sanctuary
SHIDLILPT cueellVBIE, FTamTTEWLD
D:-Kottiyoor Wildlife Sanctuary
Q&M iq LT euaTellevmi(@, FFaTTeulILd
Correct Answer:- Option-C
Questionl3:-How GST makes exports more competitive?
sleTeivlg. eTeueUmm Fmmidleanit e G igSSemeniou|l 6T &GS mSI?
A:-By exempting exports from GST
shlereiquile @\(mHg THMILIEHE allevdE aflliLgen epeid
B:-By imposing lower rate of GST on exports
ghmiwSluile Gammhs slereviqanut eSSlLILISeET eLpeLd
C:-By imposing zero rate of GST on exports
ghmiwgludle sdlereviquiler Lsalw eldlssams eNSlLIgem epevd
D:-By applying GST on the basis of value of exports
ghmingl wSlinder g linemLuiled sjlerevigenwil LILGTLI(HESIeUSE eLPGOLD
Correct Answer:- Option-C
Questionl4:-Identify the wrong statement/statements :
FSEUDTET A M&HME/ A DEEMSHEET DEHL_ITETLD STETeLD
A:-SATH-E is an educational project
SATH-E eremtigy ep(m sHevaldls Sl L b
B:-RBI had ownership of shares in commercial bank/banks prior to 2007

2007-5@, (e cuewils cumidl/cumidlgaticsr Liki@saflen o flanwenwds RBI Cgreig (hbsa

C:-GST is a solution for cascading effect
sleravlg ererLig CaevCailgh ellanereydsmen Sioum@LD



D:-Being a constitutionally mandated body, the recommendations of Finance
Commissions are binding on central government

S r&lweenipliL] ﬁg%]urra; s LmuliL(SSUUL L Sepliung @\(HLULSTD, WSS DAT&HES,
uflbglenrser s (Hrumhb
Correct Answer:- Option-D

Question15:-Which of the following is/are rightly paired?

(i) Vth Five Year Plan - Removal of Poverty and Self Reliance

(it) Xlth Five Year Plan - Inclusive Growth

(iii) Xllth Five Year Plan - Faster, sustainable and More Inclusive Growth

Yetreu(meuemeLD e 6Tgl FFlwNg @eneamrdsliuLl_(heTeng)?
(i) Veug mpsranr(hs S LD - eupienlo HMILD Serarbildamasamit B @s6
(i) Xleug) spgrewr(hs S 1D - 2 6Ter_S&Hlw eueTy&s]
(i) Xlleugy gmsmeanT(hs S Lb - Ceusiome, Hleneowmer LOHMID 2 6TerL &l
eUeTT&S
A:-Only (i) & (ii)
(i) & (ii) v
B:-Only (ii) and (iii)
(i) wHmd (iii) L L

C:-Only (iii)
(i) w_@w
D:-All of these

Qe DMEMSSILD
Correct Answer:- Option-D

Questionl6:-Find out the incorrect observation regarding the SDG Index 20-21:
SDG GanblLgev 20-21 QgrLfumer seiprer SoueflLienLid Sl Hlwe|d

A:-The composite score of Indian Economy has improved from 60 to 66
@St urmermsmrsdler sl (h Gl 606 @)\mbg 66&5@ Cuobul (HeaTers

B:-Kerala, Himachal Pradesh and Tamil Nadu have scored above national score
Cayarm, @wrgels rCssn LHMID SBIPHTH Caslw wHLICL@TaIsE G WwELiG LiewT
CubmieTere

C:-UT of Ladakh failed to attain the national score
oLmsdlen wplg Caslw evCareny e wig seumledl L g

D:-Bihar and Jharkhand lag behind the national score
Sarg whmib grisear’ Caflw evCameny el 19angnidl o drearean

Correct Answer:- Option-C



Questionl7:-Bandhan Bank is a
LbS6T cUMmIS 6(Th
A:-New Private Sector Bank
HSlw sefluny gienm eumid
B:-Non-Banking Financial Institution
cumIdl Bjveorg Bl Blmieued
C:-Payment Bank
CuGlweTL aumid
D:-Small Finance Bank
S HlF) eumidl
Correct Answer:- Option-A
Question18:-The SDF operationalized by RBI on 8th April 2022 :
8 eriuyed 2022 jermi RBI 2y,6b Glgweoni(hgsiu L SDF:
A:-Introduced a new window of central bank lending
&S eumIdl ST aUpEIGausHETar LFw Fremrsamg MNpsliu(hsswg)
B:-Replaced the Fixed Reverse Repo Rate as the floor of LAF
Blevoowirer senedp QriiCur ellflgsans LAF @6 searoms wrhmlwig
C:-Contributes to a fund created for Sustainable development
Blepeowimen eUeTf&ESGaTs 2 (HeunssUUL L Hll&@ unisefsdng

D:-Proposed increase in repo rate by 10 basis points in the next quarter to
check inflation

LanTei&asamg FflLmisEs oi(Hés sremearige CriiCur ellflgsams 10 St
Yeretlser iHlafles 2 5Cssss01ul (HeTeng)
Correct Answer:- Option-B

Questionl19:-In the Constitution of India, promotion of international peace and
security is included in the

@pSu sirflweenoliden, FFauCGss sl wHmIbd urgsrimu Gobu(sgielg
2_6TeTL_&&LILIL_(heTeTg)
A:-Fundamental duties
G LILIHLE SLEDLOSET
B:-Ninth Schedule
QRETLISTEUG] B|L_L_66nawT

C:-Preamble to the constitution
Sirflwevenoliben (peimenienty



D:-Directive principles of state policy
rles Cararansuler auflsm’ (Hgeao Camlumhaser
Correct Answer:- Option-D

Question20:-Which of the following bills must be passed by each House of the
Indian Parliament separately, by special majority?

Yemeu(mLd 6T CFTETESET @QBSIW BTLMEBLETMSI 6T 6peubleumm ieneulayd
safggeiwuns, Hpul Cumburerend eped HlepmGaummiini Ceaamr(Hib?
A:-Constitution amendment bill
SrflweewliL mss wCargm
B:-Money bill
vewr LCFTHT
C:-Ordinary bill
gngmyent GeTSM
D:-Finance bill
Hlg wCarsm
Correct Answer:- Option-A

Question21:-The resolution for removing the Vice President of India can be moved
in the

QBHW gleovents @l LiTHS samela Bé@GeugsDaTer SFomeard @) mLiLig
A:-Either House of the Indian Parliament
@B BTLTERLTDSSl6n 6ThE ieneuuldiayd
B:-Lok Sabha alone
LO&SHETEE L (HLD
C:-Rajya Sabha alone
greowigenLl L (D
D:-Joint sitting of Parliament
BITL_T@BLOGTMSS 6T Fal (hd Fol LD
Correct Answer:- Option-C
Question22:-Who appoints the Chairman of Union Public Service Commission?
wewer Liliefls #feiev sllayaien amoeiany wry HluESpriser?
A:-Vice President of India
Qpdlu gievent gammglLg)
B:-Chief Justice of India

Qpdw s@wmo FEug



C:-President of India
Gpdlw germdlug)

D:-Speaker of Lok Sabha
D& G 6TeH 6L &UI’I’(I'_F)I'I'U_IGSI]'

Correct Answer:- Option-C

Question23:-All revenues received by the Union Government by way of taxes and
other receipts are credited to the

auflaeT HMID QST TEGISET epald W eiwien 278 QUMD SeaTdgl al(HeumlisEhd @l
e eudsaLiL (HdleTmer
A:-Consolidated fund of India
Qpdlwreller euhdloanss K
B:-Deposits and advances fund of India
@nSlwmeilen epeuliL] LHMLD (LPETLIEHTLD
C:-Public account

Cung sewrd s,

D:-Contingency fund of India
@ndwraler gHbswe bl
Correct Answer:- Option-A

Question24:-Indian first food museum has been inaugurated by the Union Minister
Shri Piyush Goyal in

@pHwrellern (psed 2 awrey S (HRSTSWsSMS LESEHWL Sewds] evf A6y Camud
Qe Hnpg @aiSsT.

A:-Panjab
LI@h&TLI

B:-Tamil Nadu
SUOBT(H

C:-Kerala
Garerm

D:-Gujarath
GRS

Correct Answer:- Option-B

Question25:-Article 20 of the Indian Constitution provides for protection in respect
of conviction of offences includes :
(a) No person shall be convicted of any offence except for violation of a law in force
at the

time of commission of the Act charged as an offence



(b) No person shall be prosecuted and punished for the same offence more than
once
(c) No person shall be arrested or detained in custody without producing him before
the

nearest magistrate within a period of twenty-four hours of such arrest
(d) No person accused of any offence shall be compelled to be witness against
himself

@B srHweeamwliyg sLsdler 206ug) 1976, GDHOEISEHEGS S6uwTL_aner

flssiiu(Heuamsll LHMHW LTSTLIEU eUpBIGE DG @Fleb 2 drer_miduig

(a) pevL(perpufled o erer L Gang BOLSHETES S6T, THSeUT(H BL(HLD 6THSSE
GDHDSIHDEGLD STL_enar &SI DT L TFSeT

(b) erbs pL@®D @CT GOV DTS GemsE CHULL WD aIPEES
QLU (h SeTq&EHLILL Sdnl_Tg).

(€) <ssmsw &g QElwliul L @ muss Brend et CrrsSn@er ey
SmED o aTer wralevdlCri wpear AoTLHSSTDED &g ClFlwuGar Sjag)
&TeUedled eneUdsaGouT Fal Mg|

(d) erbsCeunm GDHnEFT 1q@d GODD ST LI L eTHSeUm(h BLI(HLD S61dhd,
eTElrns Tl Swuns @(més CouenTiql SLLTULILD @eDena
A:-(a), (b) and (d)

(a), (b) wpmid (d)

B:-(a), (b), (c) and (d)
(a), (b), (c) wpmid (d)

C:-(b), (c) and (d)
(b), (c) wpmwb (d)

D:-(a) and (d)

(a) wpmd (d)

Correct Answer:- Option-A

Question26:-The Speaker of Lok Sabha can resign from his office before the
competition of his tenure by writing resignation addressing to whom

Cargsur FUTBTLST Segl LSeNs sredSlen CUTLIg&H@ (peT, WML LD FTEETTon &g SLb
eT(pd segl Lsafepw gradlermom GlFuwiwiembd
A:-President
gemaiLg
B:-Chairman of Rajya Sabha
TTEWIFML HeneVEUIT

C:-Prime Minister



97sLoi
D:-Deputy Speaker of Lok Sabha
LDSSHETEN G GIEHET FLIMHITUISIT

Correct Answer:- Option-D

Question27:-Which of the following rights come within the domain of Article 21 of
the Indian Constitution?

(a) Right to Privacy

(b) Right to Shelter

(c) Right to Livelihood

(d) Right to claim compensation

Yereu(md ethg 2 flenger @B Sirslweeawlinder 21 eug) Wifledler sersSnEer
cu(mdleTmen?
(a) safluyflepssmear o flenio
(b) smEOLD 2 fevwo
(€) eumpaursrysSnsrer 2 fleno
(d) @ik Cammeusnsamer 2 flanio
A:-(a), (b) and (c)
(@), (b) wopmid (c)
B:-(a) and (b)
(a) wpmd (b)
C:-(a), (c) and (d)
(a), (c) wpmiw (d)
D:-(a), (b), (c) and (d)
(a), (b), (c) wpmd (d)
Correct Answer:- Option-D

Question28:-Among the following, one is not the chairperson of the Kerala Women
Commission. Which one?

Epssa_cufsailer emeuf Cayer waaflf S menruSSen Samaael] Q. gl wirf?
A:-Sugatha Kumari
&5 Gl
B:-Justice D Sreedevi
BEudl g evFCsefl
C:-Nafeesath Beevi
BLUFS e
D:-P. Shatheedevi



19. #5Cgz6l
Correct Answer:- Option-C

Question29:-Which of the following statement is/are correct about GST Council?

(i) Article 279 A related to the creation of GST council

(ii) Union Finance Minister is the Chairman of GST Council

(iii) Chief Ministers are the members of GST Council

(iv) Chairperson, Central Board of Excise and Customs non permanent invitee of the
council

shlereivlg. Se|erdle Lmml GemelmLd sgpmiseiled ergi/ereneu Filwimeang)?
(i) sdlerevig s enSleney o (Heumd@eug Gamfurer Wifley 279 A
(i) wsHw Bl Denw&sr sdlerevly G emFledler seneaou
(iii) pseeufser slleravly sajanFledler o mlidemyser
(iv) semeveury, WSS Seomed HMILD &g eumflugdlen Hlrhsr ieppLILITaT
SIS EUIT
A:-(i), (ii) are correct
(i), (ii) sRwresteneu
B:-(i), (ii), (iv) are correct
(i), (ii), (iv) sNlwrereneu
C:-(i), (ii), (iii) are correct
(i), (ii), (iii) sflwreTeneu
D:-All are correct
SDATHFID FFlLTETEnal
Correct Answer:- Option-A
Question30:-The Lifetime Achievement Award winner of the 27th edition of IFFK
IFFK @eir 27cugy) Liglilen eumpmreT srgepemurery adl(hgl Gleuemei?
A:-Firas Khoury
ool meny Qs
B:-Bela Tarr
Gueom gy
C:-Tayfun Pirselimoglu
CLuiseuerm isadllGmsar
D:-Mammootty
LOLD(LPL Ig-
Correct Answer:- Option-B
Question31:-Among the following, which one is not correct?



Yevreu(meuateummdled 6T Fiflween?
A:-Domestic Violence Act - 2005
&MU euepennd L b - 2005
B:-Demonitisation - 2016
venrodliy B&sd - 2016
C:-GST Council - 2015
shlerelg. SHejersled - 2015
D:-First Bank Nationalization - 1969
Wps& eumdl Caflubwiwnrsgse - 1969
Correct Answer:- Option-C

Question32:-Among the following, what is/are the Constitutional bodies?
(i) Central Vigilance Commission

(ii) Election Commission

(iii) National Human Rights Commission

(iv) Finance Commission

WYevreumeuemeummMled, < T&leEnOLIL] DENLDLILISGET GTETMITCD GTEI60 ?
(i) wsHw elbeveren &ullagenm
(i) Carged slager
(iii) Caflw wafls 2 fleger <,emanruLd
(iv) ;F,]gﬂ <2},EDGOUTLILD
A:-(i), (ii) and (iv)
(i), (ii) womd (iv)
B:-(i), (iii) and (iv)
(i), (iii) wHmd (iv)
C:-(ii) only
(i) w_(w
D:-(ii) and (iv)
(ii) womibd (iv)
Correct Answer:- Option-D

Question33:-Among the following, which are the two correct?

(i) India after Gandhi - Ram Chandra Guha

(ii) Turning points - Droupadi Murmu

(iii) Development as Freedom - Amartya Sen

(iv) The Indian Constitution Cornerstone of a Nation - Dr. B.R. Ambedkar

Yemeumeuameumley eThg @) Fent(h FFlwmareaneu?

(i) @eimquim ool 7 &MHSl - grd BT Ganm



(i) Cietlm umulenr_ev - FOFerud wprep

(i) QLoueli@WeRTL 6Fe oo LD - SFsHwm Glaer

(iv) 8l @emmquic sremele " iq U6 STFeTTenGLTem ool 6 Chgenr- LrsLf B.R.
CUSET

A:-(i), (ii)

B:-(iii), (iv)

C:-(i), (iii)

D:-(i), (iv)

Correct Answer:- Option-C
Question34:-Myocardial infarction is due to
LCWTETTIGUIC) @60t oLIMTdag6iT @S STarong of HL (& mg)

A:-Aneurysm
SI@N§ID

B:-Arteriosclerosis
< TELACwmevdleflCrmlev

C:-Atheromatous plaques
SHCrmorLev NGar&E@:s6T

D:-Coronary thrombosis
sCrrers $GrmbGumSen

Correct Answer:- Option-D
Question35:-Match List-l with List-II

List-1 List-l
(a) Phylloquinone (i) Scurvy
(b) Ergocalciferol (ii) Xerophthalmia
(c) Ascorbic acid (iii) Osteomalacial
(d) Retinol (iv) Hemorrhage

Choose the correct answer from the options given below :
Ul iqwied-1 &g L iquied-1l 2 16 QuUmmSSHeLD :
L1 uleo-| L iq uteo-ll

aLIGavm@el Ceormen (i) evsied

o 9

err&CaTCasure (i) Ermigmeiwm

() Sovamiis oleod (i) e Cuimberdlwie

(d) Qg Garmed (iv) rggsaslel

&G Qar@ssliulHerer afmLiuksaadmbg Fflurer Ldmead Csrb0s(H &S| Lb:
A:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)



B:-(a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
C:-(a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
D:-(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
Correct Answer:- Option-B

Question36:-Which of the following agent is/are cause STD?
(@) Treponema pallidum

(b) Bordetella pertussis

(c) Shigella dysenteriae

(d) Neisseria gonorrhoeae

Choose the correct answer from the options give below :

YemeumLd erblegem satley erg STD &@&& smyenTid?
(a) LQpGurCerom LimeSlL_LD
(b) Cumr@L L eem Qui®H&lev
() adl@s@ar euulpmiCunss
(d) Bleflur QerCarCrud
A:-(a) and (d) only
(a) wHmid (d) wIHb
B:-(a) and (c) only
(a) wpmd (C) L (Hbd
C:-(b) wpmib (d) w_(Hbd
D:-(b) and (c) only
(b) wHmb () LD
Correct Answer:- Option-A
Question37:-Monascus purpureus produce
Monascus purpureus 2 pusdl &g
A:-Clot buster
Sarm_ ey
B:-Pectinase

Cusig Ceren

C:-Stains
HEn M

D:-Cyclosporin A
ma&GarmavGumfler A

Correct Answer:- Option-C

Question38:-Which of the following are true for Moon moving around Earth? Assume
that the system is isolated?



(i) Sum of kinetic energy and gravitational potential energy is negative and
gravitational
potential energy varies inversely as the distance of Moon from Earth
(ii) Conservation of areal velocity is a direct consequence of constancy of angular
momentum
(iii) Acceleration is inversely proportional to the distance between Moon and Earth
and is
directed towards Earth
(iv) Time rate of change of velocity of Moon is inversely related to the square of the
distance
of Moon from Earth and is in the direction along the tangent to the orbit of
Moon

Yeeu(meucmeupdled hSlren Lyblenwd &OHM eUHEUSD S, Tl S-amenld? {enloLiL]

saleLULRSSUIULL Gl eTenn emeusgd CamerGeaurd
QWEs YO LHMID FTLIL DO Y dweidDmler dal (HS6ETNE crdliFnenn
HMID IO srddluiorer edned WBlGeSl®hbg sblrafan ssdbe
Crirmms wrmuHib.

) uEd SansCaussmsls LTFIETSS cTarLg Caramsslen Hlanadsemenoudler
Criry eflenere| <@ Ld.
(iii) WpO&sb sBHTensHEL LWEE@G0 Qe uleonear s neE Criwnmmmer
ellflgmamyor@n wHmb Lillew Crrésl deassiiuhdng.

(iv) spdlratien fleansGous wrhmsSler Crr elldlsid LludledlmBba b refler
SMsder L miE Ler CrIwmmrs CQsmjyeamLwg) omib &b refler
SHMULTNSSE, eThCaT(h SHengulled o ererg).

A:-(i) & (iii)

B:-(i) & (ii)

C:-(ii) & (iv)

D:-(ii) & (iii)

Correct Answer:- Option-B

Question39:-For a stone fired parallel to the ground from a height H with a velocity
u, which of the following are false?

(i) Horizontal component of velocity varies directly as time

(ii) Vertical component of velocity varies directly as the square of time

(iii) Horizontal component is directly proportional to the square of time

(iv) vertical component is constant in time

H 2 wpsdler @mpg sevruiler @eeanmuins U GCoussdld &HLD HoasHd;, et heerelhble
eTgl HeupTENg)?

) dengCaussdlen Slen ol L sam Crrsdn@ Crrme wmmiu@ib
(i) glansCoussdlan CemiGsg amm Crrsdler eufssdn@ Crrigwins wrmiLHb



(iii) SlenLol L sam Crrsdlen cuissssn@ Cory eldgramyom@Ld

(iv) Qemi@ss sam CrrsSneE Hleaeowreag)
A:-Only (i) & (ii)
(i) & (ii) LD
B:-Only (i) & (iii)
(i) & (iii) LB
C:-(i), (ii) and (iii)
(i), (i) womd (iii)
D:-(i), (ii), (iii) and (iv)
(i), (ii), (iii) wombd (iv)
Correct Answer:- Option-D

Question40:-A thin bi-convex lens of focal length f and radius of curvature r is cut
into two equal halves by the plane perpendicular to the principal axis. The two
halves are then joined with their curved surfaces touching each other to form a
system to receive a parallel beam of light. The system is

@ellw Berd f pmid euanereiler <,y (R) Camei e Gweedw Q)@ Gellbg Gleveav
(PSSO DFHES CFhIGHSS HeT1H5TD @Qrenr(h b L@Gdserms el L iLBEng. @) rewr(
LGSs@EpD Seundlen euamerhbs GLomUITLILIS@EHL 6T @ aaTas UL (h, 6(h ©)6n 6Tl TeT
aflggsneapmenwits G ¢ SawliamL 2 (HheuTsEGHanear. Sibs el GubHmlmLiLg)

A:-of focal length f that converges light
aflerw geamameans@b Galw Berbd f

B:-of focal length 2f that diverges light
aflerw Caupu®sgib Gellw Herd 2f

C:-of focal length f/2 to converges light
paflerw erridamars@h @eallw Herd f/2

D:-of infinite focal length to pass light without deviation

clvgd @eamoed gaflamws sLgg croemawnn @Gelw Barlb
Correct Answer:- Option-A

Question41:-Regarding ISRO, which of the following are correct?
(i) Gaganyaan programme is to undertake the demonstration of human spaceflight
to the

Low Earth Orbit
(ii) Chandrayan-l launched in 2008 was meant for the scientific investigation of
Moon by

Spacecraft
(iii) UNAATI is the initiative to offer training on the building of satellite to
international

participants



(iv) The mission accomplished on 26 November 2022 which has enhanced payloads
of ocean
colour monitor and sea surface temperature monitor is PSLV-C54/EOS-06

@evCrmenculs QuUrmsseiay, MerehHelareuDdled 6rgl &ifluimeng)?
(i) ssemwmer Sl b L dluder 5%@ sHmell LU LUmengs@, wells allartleafll
LwemrsSlen Cgwed allersssamg Conblsmerelsm@Ld
(i) epglpwmen-1, 2008 @)ev ellamaad LD FhdlTener el LFelnTs <puiey
QFLICUSDSTE eFeulILIL L g
(iii) UNAATI, Csdlw umisrer(ma @, eejsaan sL_(homer LulnHlss, easswetlssng.
(iv) euaremr Lomeril_Lepruid, &Led Cpuriiy deuliublene wrefllL_anyujb
CuGer(® Cuwbumgdw uafl 26 peubLy 2022 ojem HleomGeunmdiw cresean e
PSLV-C54/E0S-06 yih.
A:-(i) and (ii) only
(i) wpmd (ii) LI (Hbd
B:-All the four (i), (ii), (iii) and (iv)
Cupaerr prem@n (i), (i), (i) womibd (iv)
C:-(ii) and (iii) only
(ii) wHmibd (iii) O
D:-(iii) and (iv) only
(i) HmID (iv) LLELW
Correct Answer:- Option-B

Question42:-Which of the following statements are correct regarding the allotropic
forms of carbon?
(1) The bonding structure of Diamond is a three-dimensional structure while that of
graphite is

hexagonal
(2) Buckminsterfullerene is the C60 fullerene twelve hexagons and twenty
pentagons
(3) Thermodynamically, Diamond is less stable compared to graphite
(4) The crystal class of graphite is Dihexagonal pyramidal

smyuefer HCor Grmis algeumiser Qgmfums Yemelmbd snmigeiey erg sflumeang?

(1) eweursdlen enewriiL] jenoliy wpliLiflomee Seplium@D. Gg Fowib
Erme.enLil MBICSHTERTLOTETg)

(2) wsLlleevL oo deifer eremiigl CO0 ooLjedGlevfer ListranlyemT(h <mCamemmiger
LHMLD @(HUG CLIGTL SeiTseT

(3) Qeutin Quissellwed FHwrs, Srrepu(HLer @lbHbGLTg meurbreg)

BlenaSSETEnLD GEMEUNS 2 CTerg)



(4) SlymseamuLig e Lilg & euend @)molandenGameare rsl(h <@ Lb.
A:-Both (1) and (2)
@raer (i (1) wHmib (2)
B:-Both (3) and (4)
@b (3) wHmid (4)
C:-Both (2) and (3)
@ e (2) wHmid (3)
D:-Both (1) and (3)
@raer (o (1) wHmib (3)
Correct Answer:- Option-D
Question43:-The sequence of reactivity among interhalogen compounds is
@ar_jamGermer CayomisEnsdlanLuid ellanagdmer auflans
A:-CIF; < BrFy < IF; < BrFs
B:-ciF; < 1F; < BrF; < BrFy
C:-BrF; < IF; < BrF; < CIF;
D:-BrF; < CIF; < IF; < BrFs
Correct Answer:- Option-A

Question44:-Among the oxoacids of chlorine, perhalic acid of chlorine is the
strongest acid. This may be due to

(i) It has a weak conjugate base

(ii) The charge stabilization is maximum in its conjugate base

(iii) It has the strong conjugate base

(iv) Its conjugate base has stronger attraction for hydrogen ion

&Cearmflen 2,&Csm Slowmisafled, GuFanmedls @iSleb aueiianbiimer LSl TED. QSN S
@G| STFERTLONG @) (HEHSEMTLD
(i) @& veaiaiorer @eaTliLg SaTdmsd ClaTeT (HeTarg)
(i) <iper Qavamssarssle smyey HlavwlIL(HSS50 HFSULFLIDTE 2 6Teng)
(iii) Qg cu@ieuTer QeI satdmss Clama(hereng)
(iv) 1g60m Q)enemTsseTLomeg) @M L_[TEn 60T @{U_IGbﬂéB@ CUAIGUTEN FFFLIGHLIS
Q& menT(h eTerg

A:-Both (ii) and (iii)

(ii) womid (iii)
B:-Both (i) and (ii)
(i) wopmd (ii)

C:-Both (ii) and (iv)



(ii) wpmid (iv)
D:-Both (iii) and (iv)
(iii) womd (iv)

Correct Answer:- Option-B

Question45:-Which of the following statements are associated with 2021 Nobel
prize in Chemistry?

(i) Itis for the development of asymmetric organocatalysis

(ii) It is awarded to Benjamin List and David W.C. MacMillan

(iii) It is for the development of a method for genome editing

(iv) It is awarded to Emmanuelle Charpentier and Jennifer A Doudna

2021 <yib Y ewrigharer CouSulwaissrer G LflaL e LA6malpd 6Ths <H&maEsET
Qam_fyeLwene ?
(i) Q& sw&from < FsCammarLeidleden cuerfsslssns
(i) @g Quepsen edlevl HMID CLeN LiGeTwy,.& Goslldaendsd@ cupmisliLil L g
(iii) @51 wruay HHSSSIHDSTET (M (PEBDEW 2 (HEUTEHEGHUSDSTS
(iv) @g1 @ibwreyCGeud amybluemquy wHmib Ceeflul o Lejlearm <pHCwmmas
GUPBIGLILIL L g
A:-(i) and (iv)
(i) womd (iv)
B:-(i) and (ii)
(i) womd (ii)
C:-(iii) and (iv)
(i) HmD (iv)
D:-(ii) and (iii)
(ii) womid (iii)
Correct Answer:- Option-B
Question46:-Ormakurippu is the book written by
@& GDILIL USSsLD er(lpdlwaely
A:-Anand
BAHS
B:-Uroob
2 epLl
C:-Muhammed Basheer
Papibiog) L6k



D:-Kakkanadan
ST&GBITL_60T
Correct Answer:- Option-C
Question47:-Kerala's Folklore Academy is situated at
Cararmadlen o .CumECaMT DSTLLO @)BIE ieDBHSETeTS
A:-Aranattukara
SITBTL(H&T
B:-Nalanda
BITEITIHS T
C:-Chirakkal
&5
D:-Chembukkavu
Cebysamey
Correct Answer:- Option-C

Question48:-"There is just one castle and it is called humanity" - Who propagated
this ideology?

"Cr e CamlienL @(mEHmgI, 250E weallsCruwb eremm GUWT" - @BS &HSS wWenaLl
urlug) wimy?
A:-Narayana Guru
BTG (& (T
B:-Ayyappan
eowILILIGHT
C:-Chattambi Swamikal
gL 1b19 seumslser
D:-Dr. Ayyathan
L& SIS T
Correct Answer:- Option-A
Question49:-How many total players are there in Kho-Kho?
Car-Cam 6fld Qomggbd cTdHamen alfigEeT 2 drare?
A:-12
B:-8
C:-7
D:-10

Correct Answer:- Option-A



Question50:-Who among these was the only athlete that represented India at the
2022 Beijing Winter Olympics?

@eursaiier 2022 QuE GeflFsme eallbldsdd @bslurameuls 9T EldsseuL(H S w
G sLger ey wmy?
A:-Arif Khan
<11 Smewr
B:-Neha Ahuja
Cranm <iamogm
C:-Kishore Ratna
HCagmy goHeumm
D:-Shailaja Kumar
EMQYEVEDT (GO
Correct Answer:- Option-A
Question51:-Which of the following is equivalent to sw-
Yo (meusmeLD MG 6TE| 5107 &(@& FLOOMENS)?
A:-5504 550
B:- 5505550
Ci-5%151
D:-520x55
Correct Answer:- Option-B

Question52:-Amal scored 60% in an examination and Tinu scored 66%. The
difference of their score is 12. How much score did Tinu get?

S ¢ GCaiefler 60% LG GUHDTT LHMLD g 66% G GLHDTE.
Sjaufsaflen wHCluea elgHwurgnd 12. e ereucuere] HLIGLIGRT CLHDTF?

A:-132

B:-120

C:-200

D:-188

Correct Answer:- Option-A

Question53:-A 280 m long train travels at a speed of 60 km/hr. How long will it take
to pass a platform of 270 m?

280 5 Berperer pufley 60 km/hr Causgdler LwenflsSpg. 270 BLL§ perL_CoenLanwid
&L_58 ereucuene] CBHID < @Wh?

A:-30 sec.
30 @By



B:-33 sec.
33 Apmg
C:-16.2 sec.
16.2 Qmpmg
D:-None of these
@eal eTgla|b @deama
Correct Answer:- Option-B
Question54:-Which among the following is the smallest fraction?
Yetreumouemeupdled LBlsg Ml 1Gemerd?

I~y ooltre 28]

o0 w »

3
* 10
Correct Answer:- Option-D

Question55:-Three numbers are in the ratio 3 : 5 : 7 and their average is 65. Find
the smallest number?

eperm eTarseT 3 1 5 1 7 eram ellflgsHled o emenar wHmMLD Djeumdlen Fyrsfl 65 2@ b.
Sl eTEHTEnERTd HEBTL_HlwieLbd?
A:-26
B:-13
C:-39
D:-None of these
@emau eTgla|b @dema
Correct Answer:- Option-C
Question56:-What day will be 61 days after today, if today is Monday?
@arm Fmsl dlpenio eratmmed, 61 BT &ER&EL LD E, cTear Slpanto @) (Ha&ED?
A:-Tuesday
QFcueumiiGSlLpanLo
B:-Thursday
eSlwmp&slpanto
C:-Friday
QeueTailsdlpanio
D:-Saturday
Fall&Epanio



Correct Answer:- Option-D
Question57:-

1

2, 3
4, 5, 6
7, 8 9, 10

’

If the pattern is continuing like this, what is the sum of the last numbers in the 20th
and 21st row?

1

2, 3
4, 5, 6
7, 8 9, 10

’

wpenm @UiLigCuw Qgrfbgre, 206ug womib 21eaig euflenguileh 2 drer HenL& cramma et
Fal_(H50FTens ereumen ?

A:-576

B:-625

C:-441

D:-400

Correct Answer:- Option-C
Question58:-Find the angle between the two hands of clock at 7:20
7:20 veanfléE, suamrsdler @ram®h PL&EHESE QL Cu o drer Caramsanss
ST HlweyLd?

A:-60°

B:-72°

C:-90°

D:-100°

Correct Answer:- Option-D
Question59:-If 26 = 4,84 =6, 73 = 5, then 75 =
26 =4,84 =6,73 =5 aafle, 75 =

A:-6

B:-9

C:-5

D:-4

Correct Answer:- Option-A

Question60:-In a queue of students, Ramesh's position is 11th from the front and
17th from the back. How many students are there in the queue?



rerel a6t euflengudled Blermmed, FCadlen Hlenew (pearmed QmBHE 11leug QL SSHayib,
Gememmed @B 1768 QL SSibd @ HEGD. cuflensulled TESHENET LDTEMTETSHET 2 ETeTeT)?
A:-26
B:-27
C:-28
D:-29
Correct Answer:- Option-B
Question61:-Those are new designs. They differ _ the rest.
A:-with
B:-for
C:-to
D:-from
Correct Answer:- Option-D

Question62:-I heard my neighbour
Choose the correct infinitive

A:-Singing
B:-Sing
C:-Sang
D:-Song
Correct Answer:- Option-B
Question63:-How would you respond if they you the winner?
A:-announced
B:-announces
C:-announce
D:-doesn't announce
Correct Answer:- Option-A
Question64:-The doctor, with his nurse, _ attended the patients.
A:-has
B:-was
C:-will
D:-have
Correct Answer:- Option-A

Question65:-The writer says, "My never failing friends are they". Report the
statement.

A:-The writer said that his friends were never failing

B:-The writer says that his friends never fail



C:-The writer says that his never failed friends were they
D:-The writer says that they are his never failing friends
Correct Answer:- Option-D
Question66:-The opposite of very rich
A:-Prosperous
B:-Affluent
C:-Destitute
D:-Well-endowed
Correct Answer:- Option-C
Question67:-Sometimes, | to my life in the village.
A:-think back
B:-come in
C:-go out
D:-hold on
Correct Answer:- Option-A
Question68:-Aunt Polly always keeps a good table. It means Aunt Polly
A:-keeps the table neat and clean
B:-provides luxurious food
C:-sets the tableware well and good
D:-decorates the table well
Correct Answer:- Option-B
Question69:-They have plannedto _ a wall.
A:-rise
B:-race
C:-rays
D:-raise
Correct Answer:- Option-D

Question70:-Change the word - ‘create' into a noun by selecting the appropriate
suffix from the given

A:-_ion
B:-_ve
C:-_able
D:- ed

Correct Answer:- Option-A

Question71:-er(hGw({H CwhH6wer CeuhECHmy
@56l FLGlevmell @&&HsCau



- 5IBISSGILILIT6nT
@ &FLslyailey @ &6 eremand Clgmaelsr ClLmmeT
A:-QsLpgen
B:-LisLpse
C:-Gurryy
D:-cumerid
Correct Answer:- Option-C
Question72:-smigdlens WOTSLD WOWITaTSS cTeleumm euLpmISLILIHSDS?
A:-cfl(m&SlED
B:-wa&ribd
C:-@ubd
D:-1Sewrid
Correct Answer:- Option-A
Question73:-earCGerrm GlFeveug gL H L9medl
-wimest GeuerrGL_eor
2ACarCpLp GleueTmm erigenios
-S| MLDEDETED
@ &Qsleflery < Cearm eratm GlEmevenell 19flEE er(Wps s HlenLLiLig)
A-2H + gl
B:-<, + am
C:-par + ol
D:-<, + Gam

Correct Answer:- Option-C

Question74:-"CuwGwer) Guwwd wenlp”
erarm Hellens mredlem & Fluiy?
A:-BIT. PSGISEG LMY

B:-wp. Cogsgm



C:-Garye

D:-seflwng: epeunpss)

Correct Answer:- Option-D
Question75:-apm
1. mbumb srubGuniseild garn Fausdlbsmoeamnfl

2. @samar @unbdluel Hmss55 Cseuy
3. @6u e engel FWLILEOGT

@aeupbled erg Fflumer ganm?
Ai-sapm 1, 2 &1l
B:i-gapm 1, 3 &l
Ci-sapm 1, 2, 3, 1b &l
D:-ampm 2, 3 &7l
Correct Answer:- Option-A
Question76:-sflwren Qgm__amrs Csibbs(HSg eT(pgisH
A-uligwell(h Quuiurhsamer?
B:-erawreuans GlowiliLimhisemer UL iq wied(hias?
C:- Quuiurhsmer eramelend LIl igwiadl(ha?
D:-uligwiell(h) erewreuena Cowiiuimm?
Correct Answer:- Option-B
Question77:-Pixel eranmm sewtlefll Liggdlem SLOILPLIFD?
A:-2iF5 QuibSlrbd
B:-@enemriiL
C:-6uemng jemev
D:-uL_ggiemnr(h
Correct Answer:- Option-D

Question78:-Cgeurenemuy Sy <jeU(HLD SITLd

Cueuerm QFLGST(Lpas e



@&s@nlumeiled @b Gumid et wirg)?
A:-eu@hFlILSLES ojemf]
B:-2 cuenio 6wt
C:-ar(05&15ET_(H 2 euemLowlemtl
D:-sh@muCupm iewfl
Correct Answer:- Option-A
Question79:-LipGmdl Brepmm eTenid Hredlem <& Fluiy?
A:-gpareneuwimy
B:-pBreviquimy
C:-(pettmienm Wi en Tl 6Ty
D:-<i$lwiinmen
Correct Answer:- Option-C

Question80:-misFeneuuded 2 eulibler Liwier?
A:-auerid
B:-pmma
C:-Gzafley

D:-2_awrijey

Correct Answer:- Option-C

Question81:-Random access memories in which data words are permanently
written during fabrication are known as

Fabrication-er Cung) sre eumisensser Blrbsywns er(psLliLih Random access
memory
TG AHMP&SLILI(HGUG)
A:-RAM
B:-ROM
C:-Serial access memory
Eflwed psevev Gowifl
D:-None of these
@emau eTgla|b @ema



Correct Answer:- Option-B
Question82:-Which among the following is not an input device?
Getreu(Heuaeuddled eTg) 2 erafl () FTHed jeve?
A:-Joystick
SOMUIGNIq &
B:-Scanner
evCa ety
C:-Plotter
CIemmL_Liy
D:-Mouse
LD GV
Correct Answer:- Option-C
Question83:-Choose the statement that describes super computers
GUUT sbULL L FsemeT alleufls@n iflsmasamus Cainbels(hH&éseaLd

A:-Has the highest processing speed at a given time for solving scientific and
engineering problems

9flefllwed wHmd QurPluwe fesosmens STLLSDHE @@ GO L CrriHe oiHs
CFwerss Cousbd 2 6Terg

B:-They are designed to maximize numbers of floating point operations per
second

Smael NlaTg &@ o -L1Garmigm Limulenr Cgweumhseten crawrenilEangseni 1S5 &5s

QU QUMLDGESLILIL(h CTETE.

C:-lts processing speed lies in range 400-10000MFLOPS
Sigen Leurss Cougbd 400-10000MFLOPS aupbi9ed 2 drerg

D:-All of these
el DMEMSSILD
Correct Answer:- Option-D

Question84:-Identify the service of an operating system
e BLICTL Igm FevL b GCrameuaml L ITETLD &HTewTe| D
A:-Information management
@arurCager CoGemey6l e
B:-Process management
Liprgev CoCersy©liem

C:-Memory management



@wibwfl CoCears6le
D:-All of these
Gemel DMEMSSILD
Correct Answer:- Option-D
Question85:-What is true about EBCDIC code?
EBCDIC @hlui( uhilw o arento ereimen?
A:-It is a 7-bit alphanumeric code
@g 7-19° opeour Bluyofls Cammgld
B:-It is a 8-bit alphanumeric code
@5l 8-19 <eour Hluyofls Cammgld
C:-lt is a 16-bit alphanumeric code
@5 16-19C oeour Hluyofls Cammgld
D:-None of these
@ainmled ergLildane
Correct Answer:- Option-B

Question86:-Which function key is used to open the help window in MS Word
document?

MS Word L& @0 warg e Ganels ellarCLr Sinss erhs Lkieaser & LweaL(hds L& ng?
A:-F1
B:-F2
C:-F11
D:-F12
Correct Answer:- Option-A

Question87:-Gutter Margin in MS word is
MS Gouriged 2 erer Gutter Margin

A:-Margin added to the outside of the page when printing
SFHHLCUg usssHen GouatlliLpsdled eflatliby Carssliul L g
B:-Margin added to the binding side of page when printing
SFHHLCUNg LsssSH e WanartliLi Lssgdler allaflby Cayasasliul L g,
C:-Margin added to right margin when printing
SFHHLCUTG auegl rsdle edlaflby Cafssliul L g
D:-Margin added to the left margin when printing
SFHHLCUTE QL g rsdle aleflby Cajssliul L g

Correct Answer:- Option-B



Question88:-Which among the following is not a function in MS Excel?
Yetreu(mouemeummdled erg MS Excel @e Glgwish @evenen?

A:-AVG

B:-MIN

C:-MAX

D:-SUM

Correct Answer:- Option-A
Question89:-In which tab of MS Excel "Print Titles" option is available?
MS Excel geir erbg G196 "Print Titles" aSlpLliLib o ererg,?

A:-Insert

B:-Page layout

C:-View

D:-Home

Correct Answer:- Option-B
Question90:-Which among the following is not a type of view in MS-Power Point?
Yeeu(meuemeummdley MS-Power Point Qe ehg eueng view Glévenen?

A:-Slide sorter

B:-Notes page

C:-Slide master

D:-None of these
©leneu eTEIa|LD @)eveney

Correct Answer:- Option-D

Question91:-Select the Object Oriented Programming feature referred to as an "is-
a" relationship

"is-a" @Llns eflwer L erar @GOIUGLLu@L Crrdlpmon Sl sss Carblshsse,n
A:-Polymorphism
W IO
B:-Data Abstraction
Crirm stievlGCrgagem
C:-Inheritance
@ enGlamfll L een
D:-Dynamic Binding
L6l 6 LIGHTIg Mhl
Correct Answer:- Option-C

Question92:-Identify the valid statement in C++ to declare an array which stores



10 integers
10 wp eramsener CHOEGD em auflengenw Pleflss C++ Qe Fflwmen oihléamaEanl

S|ENL_UWITETLD HTERTELD.

A:-int array [10];
B:-int array (10);
C:-int array();
D:-int array[];
Correct Answer:- Option-A
Question93:-What is true about events in VB.NET?
VB.NET @)eb 2 airer flsLpa gser LDl o airento cTemer?
A:-Events are triggered through user interaction
Lwery GsmiLy epeold Hlaspe|ser greanrLiLi(hdlsmmer
B:-Events are triggered by an object
Bl&LD6|HeT 6p(h GlLImmeTTed gresrLLiLi(h&lermer
C:-Events are triggered by the operating system
Bl&LDE|HET @)UIGS (LPEPMENLOWITE GTeuTL LI (Nl emmeo
D:-All of these
@lenel EnETSHSLD
Correct Answer:- Option-D
Question94:-Which among the following is not a data type in VB.NET?
Yereumeuemeummled ergl VB.NET @ed 1oy cuens jeven?
A:-Char
B:-Date
C:-Int
D:-String
Correct Answer:- Option-C
Question95:-What is used to link two tables of database?
ST6SSeTSI 6 @ TeT(h L L eUmEmTSemer Qenamés eTemen Liwlenl(h&lmg)?
A:-Foreign key
B:-Primary key
C:-Candidate key
D:-Super key
Correct Answer:- Option-A

Question96:-Which among the following is not a DML command in SQL?
Yeeumeusmeummdled SQL @eb DML s L_aner @eveonsg) 6rg)?



A:-CREATE
B:-SELECT
C:-DELETE
D:-UPDATE
Correct Answer:- Option-A
Question97:-Which among the following is not an aggregate function in SQL?
Gemeumeuareummley erg SQL @ev Glrgs CFweunp jdea?
A:-SUM
B:-MIN
C:-PDT
D:-MAX
Correct Answer:- Option-C
Question98:-Identify web browser among the following
Y etreu (HeueTeLH M @)eneamT 2 mellenil SHELWITETLD &TewT6 D
A:-Google form
B:-Microsoft edge
C:-DuckDuckGo
D:-Internet Archive
Correct Answer:- Option-B

Question99:-Select the HTML code to include hyperlink to the page
"www.google.com"

"www.google.com" Li&&5S DG, Wens Qealiamus Gafss HTML
ML e s CarbbsHéseywb.
A:-<a type="http://www.google.com'>Google</a>
B:-None of these
C:-<a src="http://www.google.com'>Google</a>
D:-<a href="http://www.google.com'' >Google</a>
Correct Answer:- Option-D

Question100:-Which method in javascript open a dialog window in which it displays
its string parameter, along with two buttons, OK and Cancel?

Lwers eflemGLmeneu Sm&@EnGung <igen string parameter = et OK wmmib cancel
QuUTgETeT 2 aTengl.@ems Smés srelmevdlflligd 6hg (Ppenm 2 6Targ)?

A:-prompt

B:-input

C:-confirm

D:-none of these



Correct Answer:- Option-C



